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1 3948

What is the name of the village in Rajasthan transforming into a zero-waste
model using green technology?

A. Aandhi
B. Barmer
C. Mandawa
D.Banswara

g Tl &1 39 7 o3 finse Avser & TRafld g arer Torru= & e
FTATH FATE?

A. FTeR

B. 4TSHY

C.HeET

D. S ETST

2 3943
Andaman and Nicobar Islands judiciary falls under the supervision of which of
the following?

A. A circuit bench of the Bombay High Court at Port Blair
B. A circuit bench of the Madras High Court at Port Blair
C. A circuit bench of the Kolkata High Court at Port Blair
D. A circuit bench of the Kerala High Court at Port Blair

=AW 3R TEER @9 e AT AR R A s Fedhrme A

A TR R AT EE FEHT IS Al ad

B. 912 =T # A 3=9 ~AMTAd &1 U Hihe ad

C. 91E =T H 9w T 359 AT $1TE Afhcad
D. 91 =X H F 3o AWTAT FITF Aihecad

3 3955 Engineers’ day is celebrated every year on the occasion of birth anniversary of

a) Sir Mokshagundam Visvesvaraya
b) Sir Albert Thomas

c) Dr. APJ Abdul Kalam

d) Dr. S Radhakrishnan

ST Raw st ure g ST & FTW W AT AT 8?2
a) T ATeR[EH faredeaar

b) BT 3eac ATAT

c) 3T. THTeT 37eg HelTH

d) ST. TH TS0




3942

Which state gives Mewar Award?

A. Haryana
B. Delhi

C. Punjab

D. Rajasthan

HATE [EHR &I AT 4a18?

A, g
B. feeelt
C. 9o
D. TEEYT

3928

Which of the following separate the Andaman and Nicobars?

A. Ten Degree Channel

B. Eleven Degree Channel
C. English Channel

D. Indira Point

T # el ssrm ik fEER F mT EaTe?

A cuEdrdaer
B. TORE Rafrdae
c.gFmardaar
D.SRIwEREe

3958

In the present ICC World Cup Cricket 2023 tournament the match between India and
Pakistan was played at

a) Sardar Vallabh Bhai Patel Stadium
b) Chidambarm Stadium

c) Narendra Modi Statdium

d) Jawahar Lal Nehru Stadium

Rroer snSid reg 79 e 2023 e A oia dRTFam F o dv R Eaaa gar
o

a) TIER Toors] 718 Tea T f3as
bR RETA
c) A AT

d) TATE ST AE® LIS TH




3960

Ustaad Amjad Ali Khan is associated with which instrument?

a) Sitar
b)Veena
c) Tabla
d) Sarod

FEATE, HHASIE 3ol Wi hH Ieg I3 § Geaud 82
a) T
b) srom
C) d&ell
d) T

3939

Which is the oldest known system designed for the redressal of citizen's
grievance?

Ombudsman System
Lokpal

Lokayukta

None of the above

oome

ATt it e & franor & fre g o w9 Ut we s sl E e
A. STHIT TUTTeT
B. AT

C. AwIFd
D. SRIFT A A HIE AL

3922

Prasar Bharti — Shared Audio Visuals for Broadcast and Dissemination (PB-
SHABD) is recently launched by which ministry?

A. Ministry of Electronics and Information Technology
B. Ministry of Commerce and Industry

C. Ministry of Information & Broadcasting

D. Ministry of Communications

TR 9T - THRT 31 99K & fore @mem snfEat Asyaver (PB-SHABD) 1o 1 3 vy
FAEY SERT AT AT €2

A. ST 3T Ha=T Tig@ e #srea

B. T1fIs4 va 3gA 1T Ao T

C. HITTE TAROT HATT

D. ¥OR #e T
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3952

Under “Meri Mati Mera Desh” campaign................... is unveiled everywhere as a
tribute to our fallen heroes and a testament to their unwavering sacrifice

a) Shilaphalakam
b) Veerasmiriti

c) Shaheedsmarka
d) Kalash Smriti

"R ATEN A &2 31T F T8 T e T IATILOT TAN ARG ATI! T SUTATo HIT 3% e
o F IAUTF FTH TS R STy

a) RromhesA
b) FEgfe
C)ARTEATRT
d) Ferr &y

1"

3990

The positive and negative plates of a battery are made up of ........
A.Lead
B. Iron
C. Steel
D. Aluminium

3 A TS 3R woTEE Wi L B S B
A. s
B. &gr
C.¥=

D. vegfafags
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3997

What is the function of coolant in a vehicle's engine?
A) To lubricate engine parts
B) To clean the fuel injectors
C) To maintain the engine's temperature by preventing overheating
D) To improve acceleration

ATEA & Fofet A Fole T F41 F14 §7

A)Fea & R R REag g

B) §U+T ool 1 A% H{

C) @ F AFHT $AA T ATTHTA TATC &
D) TREAUT H FUR Y
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3981

In Gear type oil pump, the numbers of gears are ....

ocomr
aWN A

RraT ersy 3 9 & Fraw i gear Faah o 87

A.4
B.2
C.3
D.5

14

3986

The type of radiator when the water flows from top to bottom is
A. Down flow type radiator
B. Cross flow type radiator
C. Both are correct
D. None of the above

I I FUT & A 1 3R agar § A IRBvx FH R FEaT 82
A. 313 Fal TBT IBUeT

B. Fi FaY o137 IBveT

C.a=T ®eT g

D. 390%d A ¥ IE 781
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3989

That part of the rim which provides lateral support to the tyre is called
A. Well
B. Gutter
C. Flange
D. None of the above

R &1 ag #1T I TR F1 IREF FEIar Yo FI4T ¢, FAT HeArdr 87
A.ae

B. e

C. Foleor

D. 3T & & S 7T
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3994

Which fluid is essential for the proper functioning of the vehicle's braking
system?

A) Engine oil

B) Brake fluid

C) Transmission fluid

D) Coolant

arg= & I R & wofae 1 & e sl ar ave aqre sraes §2
A) ot HTTer

B) &% &9

C) @ &

D) Fae
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3992

How often should you check your vehicle's engine oil level?
A) Once a year
B) Every month
C) Before every long trip
D) Every 10,000 kilometers

HTTH! T ATEA & Sofel AT & T T o=t IR ST H= Tge?
A) I # UF 9

B) & #gM

C) ¢ & arar & uget

D) & 10,000 fFeaier W
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3962

What are the different names of the automobile?

A. Auto

B. Motor car

C. Auto Buggy

D. All of the above

AT F AT anr Far 2

A. 3iTeY

B. AT FR

C. 3iTeY B 7
D. 39Fa |t
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3971

Cylinder heads are mostly made out of which of the following materials

A. Castlron
B. Steel

C. Aluminium
D. Silver

o=t ¢z wfem Aafaf@a # 3 Fg g g s g &2

A. FRC 3T
B. ¥l

C. sregHifaas

D. &I
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3996

How frequently should you rotate your vehicle's tires to ensure even wear?

A) Every 5,000 to 8,000 kilometers

B) Once a year

C) Every 20,000 kilometers

D) Only when you notice uneven wear

wA e giaftea w3 & fore 3o aroe anesr & eradt 1 Rufa ) fBraeft an

gHTT TfRT?
A) 87 5,000 & 8,000 fraireftet oy
B) 9Tl # T% aX
C) e 20,000 fraer 1
D) ¥aw a*ft 1@ AT HHAW ge-Fe &F
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4009

"Vehicle does not move when put in gear”, this is due to

A. Broken propeller shaft
B. Broken pinion flange key
C. Broken axel shaft

D. All of the above

"=t AR & ST 9X AE gedl”, ST SR FAT 7
A @Tgmu’rﬁm e
B.{&Fﬁﬁ'ﬂﬂ%‘hsjﬁ"r

C. 2T §3T UFHe M
D. 39T gt

22

4020

The excessive axial play of the crankshaft gives a ..... noise at regular interval

A. Higher

B. Lower

C. Same

D. None of the above

Feave F s s ae P s e . AR T

A ITTUaT

B e

C.ad

D. 9= & & &I g
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4037

If your car's fuel efficiency decreases suddenly, what is a possible reason?
A) Unclean air filter
B) Inflated tires
C) Faulty oxygen sensor
D) Requires paint job

g JT9 HR F1 §UeT GRIAT AT HH &) AT &, ol SHDBT HITAT HRUT 34T £7?
A) 319 TR fheex
B) T@TT §T TR
C) arwqet JirdisrT F6T
D) ¥ Sifa Y JEeTHAT &
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4023

What is the possible cause when fuel meter gives no indication?

A. Open circuit

B. Burnt point

C. Both open circuit and burnt point
D. None of the above

T SUF HIX FIE Hohel g1 &1 AT AHTET FROT FATE?

A. 3itae wfde

B. srer gu faig

C. g withe AT w1 gam fag 2wt
D. 3wt # & @S @
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4039

If your car's air conditioning isn’t cooling properly, what should you check?
A) Fuel level

B) Refrigerant level
C) Tire tread depth
D) Headlight alignment

R T FR T T FAATAT S F 537 A1 81 161 &, A 9 471 ST Jrfge?
A) $t T
B) {fireiie TX
C) et & woist $ TS
D) gS@TSE WY@T
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4002

What are the general types of smoke?

A. White

B. Blue

C.Black

D. All the options

U & WHT THT FATE?

Aw¥rg
B. sfa
C. &TeT
D. 39R1Ea FHT
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4018

What is the method employed for the type of drive for rear axle?

A. Radius rod drive

B. Torque tube drive
C. Torque arm drive
D. All of the above

R vewe & T 3139 & YR & v St | &l rgeans s g
AfEETsIRe
B. lé &qd 3139
C. & ATH geT
D. 3uXiEd F5Y
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4022

What is the possible cause of engine overheating?

A. Lack of water

B. Late ignition timing

C. Clogged water jackets
D. All of the above

S & AR TH g FT AT ST FATE?

A. =T ST FAT

B. X ¥ sfoerersr esfder
C.mgmmﬂaﬁ
D. 3utEa Y
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4035

Which component is likely faulty if your headlights are dim?
A) Air filter
B) Alternator
C) Exhaust pipe
D) Seat belt

Tf AT FTATSCH A § Y FIT T UTHF WA gt T WHIEAT 82
A) TR fiieex

B) eetAeT

C) fA=w ursw

D) Hic dasc

30

4030

Tappetclearance for 4 stroke engine is usually kept at ..... for exhaust.

A. 0.003"
B. 0.004"
C.0.005"
D.0.008"

AFE o & T e T iw ek W e & AT e T TET AT 2
A.0.003"
B. 0.004"
C. 0.005"
D. 0.008"
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4072

What does a triangular road sign with a red border and a black 'T" indicate?
A. No entry
B. T-intersection ahead
C. Hospital ahead
D. Telephone booth ahead

wTer ar$T AR e T aren P iy @3+ e 7 gutar &7
A. FE e 7t

B. @r-=hrer amr

C. giieaes HaY

D. TR g0 3T
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4068

When is it legal to use high beams on a vehicle in India?

A. Only when driving in city limits

B. At any time during the day or night

C. Only when no other vehicles are approaching in the opposite direction
D. At all times, as it improves visibility

ST A TRt aTget X g€ o T IURRT FIAT FF Fhe T H TE E?

A. Fdel g 1 AT H argeT Tod §H T

B. R 71 7 & frely o oy

C. Faer T3 519 F1E 377 argw g e A A arEr
D. & FHT, FITH THR 7T A UR G
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4059

What do a yellow diamond-shaped sign with a black symbol of a curve signify?

A. No entry ahead

B. Warning of a sharp curve ahead
C. A sharp increase in speed limit
D. Aroundaboutis ahead

TR F Flol Tl & [T Fior §1Y & HTHE 1 Reg F47 AT E?

A. T3 FIE T39I 7L

B. 3mr S Az #r IFaraEr
C. nfy Har A gy
D. smtvwalmEr ¥
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4050

What should you do when you see a 'One Way' sigh?

A. Ignore the sign if the road is empty

B. Drive in the direction indicated by the arrow only
C. Turn back and find an alternate route

D. Stop and wait for another vehicle to pass

ST 39 a7 9 Fieg T8 oY 3T AT e aiee?

A TR HEF T E A FFAW AT AE
B. A garraars ¥ A @ s Y

C. i 73 3T F1§ dFToas AT @it

D. & 3T ZHY ATEe & ToTTa FT FAST FX
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4048

What do road sign with an image of a school bus in a yellow triangle indicate?

A. No vehicles allowed in this area during school hours
B. A school zone; reduce speed and be alert for children
C. School buses may only pass through this zone

D. No parking near schools

el BrRRIoT 7 Toher aw 1 Y aren gw e Far gatar g

A. ﬁ‘ﬁmﬁmﬂﬂ?#ﬁ-ﬁﬁ'aﬁmﬂmﬂﬁ%
B. v e &1, i 5 Y AN a=al F afy g9 @

C. Tl a& Fael 3T &5 | [ Fhell ¢

D. TFall ¥ I € Tt 7at
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4053

The maximum speed per hour in kilometres for the vehicle in a medium motor
vehicle is....

A. 50
B. 40
C.60
D. 80

UF ACTH AT aigd # digeT & Tore frader & 9fay ger srfFam I | E...

A. 50
B. 40
C. 60
D. 80

37

4052

The offences, penalties and procedures are indicated in which of the following
chapter of motor vehicle act?

Al
B.ll
c. 1
D. IV

AR g IR F FafafRa & & frg arearT & sroar, 22 sk oRFard gt g e

A. 3§
B.gRd
C. 1

D. g
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4079

When is it safe to cross at a zebra crossing?
A. When traffic on both sides has slowed down
B. When traffic on one side has stopped
C. When traffic on both sides has stopped
D. When traffic on one side has slowed down

FE FI/IT IR FTAT Fa G §?

A. 5T gl a0 Frarara AT g T gy
B. I¥ U a{W® %1 AT T 14T &1
C. 3« a1+ J{% AT a5 8 T4 8
D. 5« T 0% 1 Irarara oA g = &
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4063

What should you do if you are driving and your vehicle breaks down on the
highway?

A. Continue driving until you reach the nearest service station

B. Park the vehicle on the shoulder, turn on the hazard lights, and seek help
C. Abandon the vehicle and walk to a service station
D. Block the road to alert other vehicles

Tfe 3T MY e T ¥ 3T T qTEe USTATT 9T WU B ST At AT F4T FIET AT
A. Freas Tidw T o T o Frsfaer sy I
B. AT+ I FU W ITF T, WAEATF TS AT FL AT AZ o
C. argel @12 AT AT TEer aa daar Tor
D. 3=7 aATg=! FI AT HTA & foIT H=F FI TG FL
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4058

What does blue road sign typically indicate?

A. Information or directions (e.g., hospitals, airports)
B. Warning or caution

C. Prohibition (e.g., No entry)

D. Speed limit

Aol T2 Rieg 319 av I a7 AT §?

A. e A1 Tder (3, arEaarer, garg aEs)
B. SraTa«d T ATaLmedt

C. forder (3R, waer rver)

D. wifa =T
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S.No. Qib Answer Key
1 3948 A
2 3943 C
3 3955 A
4 3942 D
5 3928 A
6 3958 C
7 3960 D
8 3939 A
9 3922 C

10 3952 A
11 3990 A
12 3997 C
13 3981 B
14 3986 A
15 3989 C
16 3994 B
17 3992 C
18 3962 D
19 3971 A
20 3996 A
21 4009 D
22 4020 A
23 4037 C
24 4023 C
25 4039 B
26 4002 D
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28 4022 D
29 4035 B
30 4030 B
31 4072 B
32 4068 C
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36 4053 B
37 4052 D
38 4079 B
39 4063 B
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